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Gewichtseinheit Abkürzung Umrechnung in: 

Mikrogramm µg 1 µg = 1 µg 

1 µg = 0,001 mg 

1 µg = 0,000001 g 

1 µg = 0,000000001 kg 

1 µg = 0,000000000001 t 

Milligramm mg 1 mg = 1.000 µg 

1 mg = 1 mg 

1 mg = 0,001 g 

1 mg = 0,000001 kg 

1 mg = 0,000000001 t 

Gramm g 1 g = 1.000.000 µg 

1 g = 1.000 mg 

1 g = 1 g 

1 g = 0,001 kg 

1 g = 0,000001 t 

Kilogramm kg 1 kg = 1.000.000.000 µg 

1 kg = 1.000.000 mg 

1 kg = 1.000 g 

1 kg = 1 kg 

1 kg = 0,001 t 

Tonne t 1 t = 1.000.000.000.000 µg 

1 t = 1.000.000.000 mg 

1 t = 1.000.000 g 

1 t = 1.000 kg 

1 t = 1 t 
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